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* Do not open this booklet until you are told by your teacher to begin. You will have only 30 minutes working time
for this contest. Attempt as many questions as possible. You might be UNABLE to attempt all the questions
inthe time allowed.

General Instructions:

* Please use a ball point pen / ink pen / gel pen for writing the answers. However this is a suggestion only and not
mandatory.

* All questions DO NOT carry equal marks.

* There is no negative marking for incorrect answers
Write in CAPITAL letters only
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Population in million

1+11+111+1111+01+10 = ?

34567 + 45678 = 56789 + ?

1.1+111+1111+1111+11111 =2

82374 x25="7

143

3

Census was conducted once in 10 years
across a tribal region in Africa. The
population data is shown in a graph below.
Please study the graph and answer the

quest

30

43 _,

ions.

Ans:

Ans:

Ans:

Ans:

Ans:
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What was the populationin 1960?

What was the difference in
population between 1990 and
1980?

As compared to the population of
1970, when did the population
double?

In which year’s census was the
population least?

»

Ans:

Ans:

Ans:

Ans:

WORK AREA




7.

8.

10.

11.

Whatis the perimeter of this figure?

B H Hec

20 D

25

a)75 Db) 80 <) 9 d) 95 e) 100

Ans:

| multiply two integers. Their product is 32. Their sum
CANNOT be

a) 32 b) 18 ¢ 12 d) 33 |Ans:

a)28 b)30 ) 36 d) 42 |Ans:

Of the following, which is between % and % ?

a) 02 b) 04 <) 08 d) 06 [Ans

Which of the following fractions indicates the no. of boys in the
group?

Ans:

WORK AREA



12. Thesum of the smallest and the largest of the numbers 1.356,

13.

14.

15.

16.

17.

_

0.3561, 0.0986, 1.0999, 0.9001, 0.009999is

Joseph works every day from
8.45 am to 6.00 pm with 45 mins
break in-between. How many hours
does he work in 5 days (excluding
the breaksin-between)?

a) 42hrs b) 415hrs c) 42.2 hrs
d) 43hrs e) 425hrs

Mr. Ramachandran went to buy
sugar at a grocery store. The shop
owner told him that sugar’s price is
increased by 15% in the last one
month. One month ago, the price of
sugar was Rs. 36/- per kg. At what
rate (per kg) Mr. Ramachandran
buys sugar?

a) Rs.41.00 b) Rs. 4240
C) Rs.4140 d) Rs.41.20

Ans:

Ans:

Ans:

Which symbol will be the sixth to the right of the fifteenth
symbol from the rightend of the following symbols?

mroBoleov 0t c® oA 40+

)3k b i % o] v o

1x9x9x8
Thevalue of m IS
123.45 — 12.345 — 1.2345 = ?

Ans:

Ans:

Ans:

WORK AREA



18.

19.

20.

21

22.

23.

Jillisreading astory book in which 321
digits are used for printing the page
numbers. How many pages does the
book have?

Ans:
(7x2) x 5x0) + 9x2) =7? Ans:
4 37T x5y2
7 4 8 5 —n
B /
8
1 25 2 .
a) Z b) a C)E d) 1 Ans:
7 is one of the factors of
a) 23 b) 28 c¢) 30 d)32
Ans:
i 7:2
5773
3 2 2 1 1 .
a)5 b)3 c)5 d)5 e)4 Ans:

20 children are standing in a line. The first child was asked to
leave, the second child stayed, the third child left, the fourth
one stayed.... This process was repeated until all the children
were asked to leave except the last one. What was the original
position of the lastremaining child in the line?

Ans:

OomaB One A Bneafanes
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WORK AREA



24.

25.

26.

217.

28.

_

“The next cricket match between
City Cricketers and Young Men’s
Club will be 2 weeks and 3 days less
than 2 months from now?”,
announced the coach, on 1st of
May. Which month & date did the
match take place?

Atotal of 346 black and white beads are arranged like this.

00000000000 0000

i. Whatisthe colorofthe 93“bead?

Ans:

Ans:

il. Howmany black beadsare there inthe arrangement?

When the number 1122334455 is divided by 11, then the

number of digitsin the quotientis

In a class room, the desks are
arranged in straight rows. Each
student is given a desk. Aniruddh’s
desk is fourth from the front, third
from the back, third from the right
end and fifth from the left end. How
many desks are there in the class
room?

a)28 b)35 c¢)42 d)56 e) 49

A few years ago, in the month of
May, there were 5 Wednesdays
and 4 Thursdays. On which day of
the week was 15th May in that
year?

a) Monday b) Tuesday
c) Wednesday d) Thursday
e) Friday

Ans .

Ans:

Ans:

Ans:

WORK AREA



WORK AREA

29. When you multiply all the numbers given below, which digit
comesinthe units place?

34, 54, 62, 71, 84, 17

a0 b4 09 d)3 €6 |Ans:

30. A giant clock in New Delhi B
counts down the start of the ICC -
world cup cricket championship
2011. On Feb 19" when the
tournament starts, it will show 0
days left. How many days, does it
showon 31*Oct2010?

Ans:

31. Fiveconsecutive integersadd up to50.The smallestnumberis

a5 b6 c¢7 d8 €9

Ans:

32. Christiano Ronaldo runs 12 km in a 90
minute soccer match. What is his average
speedinkm/h?

Ans:

33. If 4x-16 = 0, then the value of x is

a2 b3 ¢4 d5 eo0 Ans:

1 ,,_3
3, = +7=23
4 4

1 1 .3 1 2 .

35. Theaverageofl, 2, 3,4,5, 6,7, 8 &9is

a5 b)4 ¢ 6 d) 45 Ans:




WORK AREA

36. Ted wrote a 4 digit number on a piece of paper and
challenged Alex to guessit. All the digits were different.

Alex
Ted

Two of the digits
are correct but they
are positioned
wrongly

-!:“!

Could it be

37867

My answer is
the same as
before

Wow ! Two of the
digits are correct
and in the right

places as well

My answer is the
same as just the
previous one

None of the
digits is correct

Hig i i) [ AR

w0y +dD wd D Wy D

Whatnumber did Ted write ?

Ans:

37. Thescales are balanced in pictures 1 & 2. How many apples will
balance the scale inthe third picture?

Ans:




